CSE332 Week 5 Section Worksheet
1. Fill out the following table of   run-times (assume it’s just the versions we talked about in class; no special optimizations):

	Sort
	Best-case
	Expected
	Worst-case

	SelectionSort
	
	
	

	InsertionSort
	
	
	

	HeapSort
	
	
	

	QuickSort
	
	
	

	MergeSort
	
	
	


2. Describe a modification that could be applied to any sort that would make its best-case run-time be O(n), but keep its expected and worst-case times.

3. For double hashing in general, what’s wrong with h2(k) = k%7 as a secondary hash function?
4. Imagine we have a hash table with a poorly chosen primary hash function (or we just get very unlucky with our insertions) and all the keys are mapped to the same index by our primary hash function.  How would this affect a table using separate chaining?  How would this affect a table using double hashing (assume that the secondary hash function distributes the keys fairly evenly)?  Assume no resizing is done.
5. Say you’re working at your job, and your boss wants you to implement the dictionary ADT using either a separate chaining hash table or an AVL tree.  

a. Describe a scenario where the problem constraints would lead you to choose the hash table.  

b. Describe a scenario where the problem constraints would lead you to choose the AVL tree.
